Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

o 2O R

Ratio

: :
0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

1.2

< lr—
g [
R
B fmarn
1’4 I .
> - .
> b o
c 0.8fF---:
g F
s I
£ [
o 0A6_— Y
0.4FtH
0.2F
o b
T
14 Ymp 324
0.8 ’ i i
-0.8-0.6 04 -0.2 2 04 06 08

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

= [

[N L

§ f

e 1— --------------- B R I T R

e T

< : : : :

& 0.8f--eeees PR e R SEREED PR

= I . . . . .

) o . . . . .
e R U B | REEE SRR RS
0.4 D N FF [ ERRPRREPS Feeees
0.2f--e e R RREE Feeees

° AN' i i -P i i

R SO A S S S SO
] :U. -------------------
30 20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 12r

o L

N [

oS

%

=

>

[2)

=

2

2

= r . . . .

5} o . . . .

0.6+ --e - deeeee AREEELE feeeeges i
0.4 R PR PR ..

: i
i i

°

I

o
]
0.5

B 1
TP dz(PV) (cm)



	Contents
	Page 1


